*International Journal of Combinatorial GraphTheory and Applications Vol. 6, No. 1, (January-June, 2021)* 

Reviewed by: Kinkar Chandra Das

Received: 10th April 2021 Revised: 14th May 2021 Accepted: 15th June 2021

## Some identities involving generalized Fibonacci and Lucas polynomials

Hongmei Liu<sup>1</sup> and Tianming Wang<sup>2</sup>

<sup>1</sup>School of Science, Dalian Nationalities University Dalian, 116600, China
<sup>2</sup>Department of Applied Mathematics, Dalian University of Technology e-mail: hmliu99@yahoo.com.cn

**Abstract.** In this paper, some relations between generalized Fibonacci polynomials and Bernoulli polynomials, generalized Lucas polynomials and Euler numbers, and generalized Lucas polynomials and Euler polynomials are established.

## 1. INTRODUCTION

We consider a polynomial sequence  $\{W_n(x)\}$  defined by

$$W_{n+2}(x) = P(x)W_{n+1}(x) + Q(x)W_n(x), \quad n = 0, 1, 2, \dots$$
(1.1)

Obviously, when  $W_0(x) = 0$ ,  $W_1(x) = 1$ ,  $\{W_n(x)\}$  reduces to the generalized Fibonacci polynomial sequence  $\{U_n(x)\}$ , and  $U_n(x) = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ , where  $\alpha = \frac{P(x) + \sqrt{\Delta x}}{2}$ ,  $\beta = \frac{P(x) - \sqrt{\Delta x}}{2}$  and  $\Delta x = P(x)^2 + 4Q(x)$ ; when  $W_0(x) = 2$ ,  $W_1(x) = P(x)$ ,  $\{W_n(x)\}$  reduces to the generalized Lucas polynomial sequence  $\{V_n(x)\}$ , and  $V_n(x) = \alpha^n + \beta^n$ . Moreover if P(x) = p, Q(x) = q, p and q are integers and p > 0, sequences  $\{U_n(x)\}$  and  $\{V_n(x)\}$  are just the generalized Fibonacci and Lucas numbers sequences  $\{U_n\}$  and  $\{V_n\}$ . About the above mentioned polynomials and numbers, there were many results obtained in [3]- [6].

<sup>&</sup>lt;sup>0</sup>2000 Mathematics Subject Classification: Primary 11B37, Secondary 11B39.

<sup>&</sup>lt;sup>0</sup>Keywords: generalized Fibonacci polynomials; Bernoulli polynomials; generalized Lucas polynomials; Euler number; Euler polynomials.

Recently, T. Zhang and Y. Ma [2] established the following identity:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{U_{a_1}(x)}{a_1!} \cdots \frac{U_{a_k}(x)}{a_k!} \frac{B_{b_1}}{b_1!} \cdots \frac{B_{b_k}}{b_k!} \left(\sqrt{\Delta x}\right)^{b_1+\dots+b_k} = \frac{(k\beta)^{n-k}}{(n-k)!},$$
(1.2)

where  $B_i (1 \le i \le k)$  are Bernoulli numbers, which are defined by

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}.$$
(1.3)

Furthermore, Euler numbers  $E_n$ , Bernoulli polynomials  $B_n(x)$  and Euler polynomials  $E_n(x)$  are defined by [1]:

$$\frac{2e^t}{e^{2t}+1} = \sum_{n=0}^{\infty} E_n \frac{t^n}{n!},\tag{1.4}$$

$$\frac{te^{tx}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!},$$
(1.5)

$$\frac{2e^{tx}}{e^t + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}.$$
(1.6)

And the following formulae hold:  $B_n = B_n(0), E_n = 2^n E_n(\frac{1}{2}).$ 

Identity (1.2) established the relation between the generalized Fibonacci polynomials and the Bernoulli numbers. In this paper, we use elementary methods to establish the relations between generalized Fibonacci polynomials and Bernoulli polynomials, generalized Lucas polynomials and Euler numbers, and generalized Lucas polynomials and Euler polynomials.

## 2. Main results

**Theorem 2.1.** For positive integers k and n, there exists the following identity:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{V_{a_1}(x)}{a_1!} \cdots \frac{V_{a_k}(x)}{a_k!} \frac{E_{b_1}}{b_1!} \cdots \frac{E_{b_k}}{b_k!} \left(\frac{\sqrt{\Delta x}}{2}\right)^{b_1+\dots+b_k} = \frac{2^{k-n} (kP(x))^n}{n!}$$
(2.1)

**Theorem 2.2.** For positive integers k and n, we have the identities:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{U_{a_1}(x)}{a_1!} \cdots \frac{U_{a_k}(x)}{a_k!} \frac{B_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{B_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!} (\sqrt{\Delta x})^{b_1+\dots+b_k} = \delta_{n,k}$$
(2.2)

where  $\delta$  is the Kronecker delta.

**Theorem 2.3.** For positive integers k and n, we have the identity:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n>0} \frac{V_{a_1}(x)}{a_1!} \cdots \frac{V_{a_k}(x)}{a_k!} \frac{E_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{E_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!} (\sqrt{\Delta x})^{b_1+\dots+b_k} = 0.$$
(2.3)

Some identities invoving generalized Fibonacci and Lucas polynomials

Now we give their proofs.

Proof of Theorem 2.1: By means of  $V_n(x) = \alpha^n + \beta^n$ , we can easily obtain the generating function of  $V_n(x)$ :

$$V(x,t) = \sum_{n=0}^{\infty} \frac{V_n(x)}{n!} t^n = \sum_{n=0}^{\infty} \frac{\alpha^n + \beta^n}{n!} t^n = e^{\alpha t} + e^{\beta t} = e^{\beta t} (e^{t\sqrt{\Delta x}} + 1).$$
(2.4)

So, we have

$$V(x,t)\frac{2e^{\frac{\sqrt{\Delta x}}{2}t}}{e^{t\sqrt{\Delta x}}+1} = 2e^{\beta t + \frac{\sqrt{\Delta x}}{2}t}.$$

From (1.4) and (2.4), we have

$$\Big(\sum_{m=0}^{\infty} \frac{V_m(x)}{m!} t^m\Big)\Big(\sum_{n=0}^{\infty} \frac{E_n}{n!} \big(\frac{\sqrt{\Delta x}}{2}t\big)^n\Big) = 2e^{\frac{P(x)}{2}t},$$

then k times on the both sides of the above identity, we get

$$\sum_{n=0}^{\infty} \sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{V_{a_1}(x)}{a_1!} \cdots \frac{V_{a_k}(x)}{a_k!} \frac{E_{b_1}}{b_1!} \cdots \frac{E_{b_k}}{b_k!} \left(\frac{\sqrt{\Delta x}}{2}\right)^{b_1+\dots+b_k} t^n$$
$$= 2^k \sum_{n=0}^{\infty} \frac{1}{n!} \left(\frac{kP(x)}{2}\right)^n t^n.$$

Comparing the coefficients of  $t^n$  on the above, we immediately obtain the identity (2.1).  $\Box$ 

Proof of Theorem 2.2: In view of  $U_n(x) = \frac{\alpha^n - \beta^n}{\alpha - \beta}$ , the generating function of  $U_n(x)$  is

$$U(x,t) = \sum_{n=0}^{\infty} \frac{U_n(x)}{n!} t^n = \sum_{n=0}^{\infty} \frac{\alpha^n - \beta^n}{(\alpha - \beta)n!} t^n = \frac{e^{\alpha t} - e^{\beta t}}{\alpha - \beta} = \frac{e^{\beta t} (e^{t\sqrt{\Delta x}} - 1)}{\sqrt{\Delta x}}.$$
 (2.5)

Therefore, we have

$$\frac{U(x,t)}{t} \frac{t\sqrt{\Delta x} \cdot e^{t\sqrt{\Delta x} \cdot \frac{-\beta}{\sqrt{\Delta x}}}}{e^{t\sqrt{\Delta x}} - 1} = 1.$$

From (2.5) and (1.5), we get

$$\Big(\sum_{m=0}^{\infty} \frac{U_m(x)}{m!} t^{m-1}\Big)\Big(\sum_{n=0}^{\infty} \frac{B_n(\frac{-\beta}{\sqrt{\Delta x}})}{n!} (t\sqrt{\Delta x})^n\Big) = 1.$$

Then k times on the both sides of the identity, we have

$$\sum_{n=0}^{\infty} \sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{U_{a_1}(x)}{a_1!} \cdots \frac{U_{a_k}(x)}{a_k!} \frac{B_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{B_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!}$$
$$\times (\sqrt{\Delta x})^{b_1+\dots+b_k} t^{n-k} = 1.$$

Comparing the coefficients of  $t^{n-k}$ , we easily obtain the identities (2.2).  $\Box$ 

Proof of Theorem 2.3: By (2.4), we also have

$$V(x,t)\frac{2e^{t\sqrt{\bigtriangleup x}\cdot\frac{-\beta}{\sqrt{\bigtriangleup x}}}}{e^{t\sqrt{\bigtriangleup x}}+1} = 2.$$

From (2.4) and (1.6), we get

$$\Big(\sum_{m=0}^{\infty} \frac{V_m(x)}{m!} t^m\Big)\Big(\sum_{n=0}^{\infty} \frac{E_n(\frac{-\beta}{\sqrt{\Delta x}})}{n!} (t\sqrt{\Delta x})^n\Big) = 2.$$

Similarly to the proof of Theorem 2.2, we immediately obtain the identity (2.3).  $\Box$ 

In the following, we will give some special cases of the Theorem 2.1, 2.2 and 2.3.

Taking P(x) = x and Q(x) = 1, (2.1)-(2.3) reduce to the following

**Corollary 2.4.** For positive integers k and n, we have the formulae:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{\underline{L}_{a_1}(x)}{a_1!} \cdots \frac{\underline{L}_{a_k}(x)}{a_k!} \frac{\underline{E}_{b_1}}{b_1!} \cdots \frac{\underline{E}_{b_k}}{b_k!} \left(\frac{\sqrt{\Delta x}}{2}\right)^{b_1+\dots+b_k} = \frac{2^{k-n}(kx)^n}{n!},$$

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{\underline{F}_{a_1}(x)}{a_1!} \cdots \frac{\underline{F}_{a_k}(x)}{a_k!} \frac{\underline{B}_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{\underline{B}_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!} \left(\sqrt{\Delta x}\right)^{b_1+\dots+b_k} = \delta_{n,k},$$

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n>0} \frac{\underline{L}_{a_1}(x)}{a_1!} \cdots \frac{\underline{L}_{a_k}(x)}{a_k!} \frac{\underline{E}_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{\underline{E}_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!} \left(\sqrt{\Delta x}\right)^{b_1+\dots+b_k} = 0,$$
where  $\beta = \frac{x-\sqrt{\Delta x}}{2}, \ \Delta x = x^2 + 4.$ 

In Corollary 2.4, let x = 1, we get

**Corollary 2.5.** For positive integers k and n, we have the formulae:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{L_{a_1}}{a_1!} \cdots \frac{L_{a_k}}{a_k!} \frac{E_{b_1}}{b_1!} \cdots \frac{E_{b_k}}{b_k!} \left(\frac{\sqrt{5}}{2}\right)^{b_1+\dots+b_k} = \frac{2^{k-n}k^n}{n!},$$

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{F_{a_1}}{a_1!} \cdots \frac{F_{a_k}}{a_k!} \frac{B_{b_1}(\frac{\sqrt{5}-1}{2\sqrt{5}})}{b_1!} \cdots \frac{B_{b_k}(\frac{\sqrt{5}-1}{2\sqrt{5}})}{b_k!} \left(\sqrt{5}\right)^{b_1+\dots+b_k} = \delta_{n,k},$$

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n>0} \frac{L_{a_1}}{a_1!} \cdots \frac{L_{a_k}}{a_k!} \frac{E_{b_1}(\frac{\sqrt{5}-1}{2\sqrt{5}})}{b_1!} \cdots \frac{E_{b_k}(\frac{\sqrt{5}-1}{2\sqrt{5}})}{b_k!} \left(\sqrt{5}\right)^{b_1+\dots+b_k} = 0,$$

where  $F_n$  and  $L_n$  are classical Fibonacci and Lucas numbers.

If we let P(x) = p and Q(x) = q in (2.1)-(2.3), we have

Some identities invoving generalized Fibonacci and Lucas polynomials

**Corollary 2.6.** For positive integers k and n, we have the formulae:

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{V_{a_1}}{a_1!} \cdots \frac{V_{a_k}}{a_k!} \frac{E_{b_1}}{b_1!} \cdots \frac{E_{b_k}}{b_k!} \left(\frac{\sqrt{\Delta x}}{2}\right)^{b_1+\dots+b_k} = \frac{2^{k-n}(kp)^n}{n!},$$

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n} \frac{U_{a_1}}{a_1!} \cdots \frac{U_{a_k}}{a_k!} \frac{B_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{B_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!} \left(\sqrt{\Delta x}\right)^{b_1+\dots+b_k} = \delta_{n,k},$$

$$\sum_{a_1+\dots+a_k+b_1+\dots+b_k=n>0} \frac{V_{a_1}}{a_1!} \cdots \frac{V_{a_k}}{a_k!} \frac{E_{b_1}(\frac{-\beta}{\sqrt{\Delta x}})}{b_1!} \cdots \frac{E_{b_k}(\frac{-\beta}{\sqrt{\Delta x}})}{b_k!} \left(\sqrt{\Delta x}\right)^{b_1+\dots+b_k} = 0,$$
where  $\beta = \frac{P^-\sqrt{\Delta x}}{2}$  and  $\beta = -2^2 + 4\pi$ 

where  $\beta = \frac{p - \sqrt{\Delta x}}{2}$  and  $\Delta x = p^2 + 4q$ .

## References

- [1] Louis Comtet, Advanced Combinatorics, D. Reidel publishing Company, 1974.
- Tianping Zhang and Yuankui Ma, On generalized Fibonacci polynomials and Bernoulli numbers, J. Integer Sequences 8 (2005), 05.5.3.
- [3] Wenpeng Zhang, Some identities involving the Fibonacci numbers, Fibonacci Quart. 35 (1997), 225-229.
- [4] Zhizheng Zhang and Jun Wang, On Some Identities Involving the Chebyshev Polynomials, Fibonacci Quart. 42 (2004), 245-249.
- [5] Fengzhen Zhao and Tianming Wang, Generalizations of some identities involving the Fibonacci numbers, Fibonacci Quart. 39 (2001), 165-167.
- [6] Fengzhen Zhao and Tianming Wang, Some identities involving the powers of the generalized Fibonacci numbers, Fibonacci Quart. 41 (2003), 7-12.